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Third Year (T.D.C.) Science Examination, 2018

STATISTICS
Paper-III
(Theory of Sample Surveys and Vital Statistics)

Time Allowed : Three Hours
Maximum Marks : 50

PART - A (@Ue-31)
Answer all questions (50 words e¢ach).
All questions carry equal marks.
it 9 e B | v W o SR vE v § st T A
Tt gel & 37 waE €

[Marks : 10

PART - B (@ve-9) | Marks : 25
Answer five questions (250 words each).

Selecting one from each unit. All questions carry equal marks.
T % § Teh-Ush ¥91 74 g, Tt Ui w9 Fifra |
TS T W IW 250 V= § AE T @)

[t Al & of W ¥

PART - C (@uz-%) [Marks : 15
Answer any fwo questions (300 words each),
All questions carry equal marks.
% A T HIAC | T TS I 300 Vs | Sifirs 7 &
[l gl & ofk T £
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PART - A
(@UE-31)

. Answer the following :

Frefafaas & s difag :

(i)

(ii)

(iii )

(iv)

(v)
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UNIT - I
(5TE-1)
State the basic principle of sample survey.
et e 3 e o ) o FIR
Write the types of sampling.
wiaaga & gl 1 fafad |
UNIT - 11
(FT3-11)
What is a simple random sample ?
Tt Sfew wiaed @0 ®72
Define stratified random sample.
i Sfaw =aa = gftanfea =ifag
UNIT - III
(gars-111)

Define cluster sampling,

=5 wfaags #1 aftiiE e )

2



(vi) Define two-stage sampling.

PART - B
fewia wftraaa =) gfenfaa sifsa
(@ue-¥)
(FFR-1IV) (F=T-1)
( vii ) What is systematic sampling ? 2. Discuss the basic principles of a sample survey. 5
FUAG Y=g T 82 wfeest wdaror & Ry fagrdl &1 faa= wifeg)
( viii ) State the condition in which ratio estimation is more 3. Describe how sample surveys are conducted. >
| | Sredt wefem 3 fard o &, o
efficient than SRSWOR estimator.
_ UNIT - II
39 feufa a1 srgmifaes &1 = 0 foras arur- sieers,
(gT$-11)

fan wfarugs & e 39 wfaags e @ atfus 2

4. @Give the definition of simple random sampling without

4
replacement and in the usual notations prove that : 1+2+2
UNIT -V - -
E(yn ) = yN
(FETE-V) and ¥ (,)= &= s
n N" "
(ix) What is stationary population ? @ Agfoos Wfoaas wfaeagar fafy =51 oftuma Sifse g
e ST *f Wbl # firg oy e :
(x) What is vital index of population ? E(y” )(_;,y“" )
- -n
Viy, )= s?
T G EEIE T 87 ™ ( ) N,
3183/430 4
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5. Show that the variance of estimate of population mean in
stratified samplign with proportional allocation is less than that
of simple random sampling. 5
wefvia wiferd for sTwifass dean awelt i wfawgm g snesfea
|afe w1 1 T8 WA agfeas 9faea gr wra seRe &
3TeN F B B

UNIT - 11
(3&T3-111)

6. What is cluster sampling ? Obtain the unbiased estimate of
population mean and its variance by this method. [+2+2
& o Wiaags #n 27 39 fafu @ oyn wma =1 s@fime
3T AYT IHH T Frd HIfq |

7. Explain two stage sampling with its usefulness. 5
g ufaeaa 1 39 was) |iea sl |

UNIT - IV
(FF-1V)

8. Explain the ratio method of estimation and obtain its bias and
variance to the first order of approximation. 1+2+2
3 H1 3K fafy =t gowgd aur st aifAfa sik wem
Tun wife & wfrwe as fafad
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10.

11.

What is two stage sampling ? Explain with examples. Why is
it looked upon as a case of incomplete stratification 7 [+]+43
feratia wfaeem =0 §7 Semi |fed w9agd | 38 Y0 &
1 T8 F S S 87

UNIT -V

(Fw-V)
Explain crude and standardised death rates. In what way is
standardised death rate superior to crude death rate 7 1+2+2
sTaftea qd Ao Geged ) 9Hwsd | wEife goged e
T & sraftpe e & A 2
What do you understand by life-table ? On what assumptions

its construction in based ? 5

e 9RO | 319 1 9hgE €2 TS A R armaetl )

@ &2
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PART - C
(Tve-|)
UNIT - 1
(F=TE-1)

12. What are the points which need special attention at the
planning stage of sample surveys. Explain clearly.
3 fagaii = swengy, fog afaed srdvm =Y e =@ o
faiy e vEa F IEvESa € ) VI T H HRIEd |
UNIT - 11
(gT3-11)
13. Discuss different allocations in stratified random sampling
alongwith their efficiencies with SRSWOR.
wita gl afogaa | fafvs faadi 1 faa=sw awrmg 9
91 S&Id1 F g SRSWOR | Hifeu |
UNIT - 111

(SHTE-111)

14. Prove that efficiency of cluster sampling relative to simple
random sampling is approximately equal to mﬁ

where symbols have their usual meanings.
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15.

16.

faz =IfS & =5 wfraa =1 <am o agfes v 5
, ]

o H @ m#w%uaﬁ&ﬁﬂﬁm

ferafdfaa 1

UNIT -1V
(3=TE-1V)

Explain Regression method of estimation of estimation. Obtain
estimate of population total and variance with this method. Also

compare this method with simple random sampling method.
e i g fafy w5t we Fifs ) 3o fafy gro wiva o
TR & e 71d St | 39 fafu 1t we agfos wfaas
fafy o F3fT | http://www.mlsuonline.com
Whatsapp @ 9300930012
UNIT-V  your old paper & get 10/-

(zwE-V) Qe dodr drar 3R 10 w99 urd,
Payim or Google Pay 31

What are the different measures of fertility ? Which measures
will you use for comparing the fertility conditions of two
countries and why ?

I A9 ) fafie ww o @2 AT @ W e @
g &3 & fore g fm W o1 waim 8 ok =02
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